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Neat diagrams mu\sifb'e drawn wherever necessary.
Figures to.the right side indicate full marks.
Asswne Suitable data if necessary

What are the steps to connect oracle 10g server with JDBC in netbeans.

S 1! [3]
lustrate with diagram the JDBC driver models," [4]
' QRN
What is JDBC? Explain its advantages and features. [6]
What is J2EE and what makes J2EE suitable for distributed multitier
applications? e [3]

Write a Java program on :S'fhbwin_g the demonstration of serylet config

interface. e _ [6]

State the difference::‘beg:i’i}ef:nffséssions and cookies in servlets. [2}
T imTOR 4

Define the Servlet Life Cycle diagrammatically. 4]

What is the diffbrencve-“.between ServletContext and Sex'vletCont_'ifg'} [4]

Explain in details. , -' (4]
i)  JSP directives
i)  JSP implicit objects

State the JSP action elements. And explai.n;jﬁpffors}&ﬁrdﬂ? element.[4]

OR ot
How the JSP pages are processed on the web server? [2]
What is session bean? What are the two types and when to use session
Beans. Illustrate? [6]
PTO.
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Q7) a) Whatare Java Beans? What are the uses of introspection in Java Beans?

(4]
b) Write the SimpleBean code fOI"j'_;f‘StUdCIlt details? (5]
08) a)  Write a note on: (any three) . (6]
s JNDI contcxt X
if) Initial context DY
111) Session- context and
1v) FJB\contcxt
b) Explam the usc: of session facade? (3]
Q9) a) What 1ssprmg7 List out the advantages of spring framework? [6]
b) Write a note on “Aspect Oriented Programming (AOP)” [2]
o OR
Q10) a) Du’agfibe spring MVC module, [4]
b) _Txplam the tabular difference b&.tWtecn Bean factory and application

" context? (- [4]

Q11) a) What is Hibernate? Fxplam c'ut and load method of Hibernate.  [6]
b) Justify your answer thdt w érc we may use Hibernate Query Language

(HQL) A 2]+
A BR &
Q12) a) Write a short dwcnpnon of followmg methods of Hibernate: [6]
1) Save i g

11) Persist ‘
iii) Save or update-

b) List out the annotauons used for Hibernate mappmo m Hlbernate
application. v [2]

+4+++
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S.Y. MCA
Database Management System
‘ (2013Pa‘ttern) (Semester-I1T)

Time : 3 Hours| e Y
Instructions to the candidates: .
1)  Neat diagrams mu;i" be drawn wherever necessary.
2) Figures _ifg;-the ﬁgiit side indicatefull marks.
3 AsswneSuitable data if necessary

[Max. Marks : 50

Q1) Explain the _stfhcture of DBMS.

[10]

e OR
Q2) Explain*gidtabase language and database abstraction of DBMS. [10]
03) Exﬁlain with example how EER dlagramconvert 1nto tables. [8]
04) Draw ER diagram of Project Managemeut System. Each project’s task having

time bound and priority, which are-distributed within company employees
of different departments;

mployees having different skillsets. Every year
company gone through the” ppraisal of employees to give promotion. Also
as per the requirements new

candidates are appointed in various departménts,

18]

05) State and explain all theTCL statements with syntax and exampl_es.-x [8]

OR

06) a)  Explain the tefrh integrity Constraints with exa.mple j [5]

b)  Discuss on - “Systematic Treatment of NULLValues’ [3]

Q7) State and explain all the aggregate function“s,;__'&'i'tﬁ bvntax and examples. [8]
OER S SO

08) Difference between procedure and function m PL/SQL with syntax and

example g . 8]

PToO.
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and explain normalization \&ﬁf its need. [8]

Gy

a) How you relate Bi ata with Non-Relational database? [5]

b) Explain the (‘Scﬁh NoSQL. [3]

X g 7 f’\::} =

B : ;;\, b OR

- Q12) Discuss. Hg\j}gﬁlg @ﬂ% is helpful in finance? [8]
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P2360 N C\“/ ~ 8 \} [Total No. of Pages : 2
- [5156] - 303
SYMCA (Under Faculty of Engg.)
Operating Systems

(2013 Course) (Semester-I11)
Time : 3 Hours| [Max. Marks : 50
Instructions to the candidates:
1)  Neat diagrams must be drawn wherever necessary.
2)  Figures to the right side indicate full marks.
3)  Useof Calculator is allowed.
4) Assume suitable data, if necessary.

Ql) a) Explai»__ri the PASS-I of assembler. (4]

b) Explain an relocating loader with its advantages and disadvantages. [3]
c) Compare application software and system software. [2]
o OR
Q2) a) - Explain - [3]

1)  Real Time Operating System.
i)  Time Sharing Operating System
b) Define : [6]
i)  Cross Compiler -
i)  Optimizing Compiler
i) Bootstrap Compiler

03) a) Consider the following set of processes, with the length of the CPU

burst given in milliseconds. [5]
Process Burst Time Arrival Time Priority
B2 s 6 1 e A
P3 a7 3 ' &3
P4 9 3 i

Illustrate the execution of these process using non prezemptive SJF and
priority pre-emptive CPU scheduling algorithms. Also calculate average

waiting time?
b) Whatis process? What is process control block(PCB)? Explain in detail.
[3]
OR
PT.O.
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Q4) a)  Explain preemptive priority process scheduling algorithm with the help

of example. (4]

b) Explain context switching? [2]

¢)  Write a note on interrupt mechanism [2]

05) a) Explain the requirements of Mutual exclusion. (4]
b) Explain deadlock prevention techniques. [4]

OR

Q6) a)  Explain characteristics of Deadlock. (4]
b)  Write a note on race condition. [2]

¢)  Write a note on Semaphores. [2]

Q7) a) Whatis swapping? Explain how the space is allocated usin g swapping?[3]
b)  Write a note with respect to contiguous memory management scheme.[3]
i)  Sharing
1) Protection
1)~ -Access Time
c) Eiplain the concept of fetch and replacement. | [3]
. OR
08) a) ~ Explain the concept of segmentation? What is paged segmentation? [3]
b) Why demand paging approach is preferred over segmentation? Explain[3]

¢)  Write a note on virtual memory management. [3]
Q9) a)  Explain two level, tree structured and acyclic graph directories. [4]
b) Write a note on file protection. [4]

OR
Q10) a) What are the different issues related to disk performance? Explain any
one disk scheduling algorithm with suitable example. [4]
b) Explain file system structure (4]

Q11) a) Explain the follp@iﬁg terms:
i)  Linux Kernel

ii)  Virtual file system in Linux | [4]
b) Explain process management system call. [4]
OR ’
Q12) a) Draw and explain the basic structure of Linux File System. [4]
b) Explain any four shell commands with example. [4]
+4+ 4+
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Total No. of Questions : 12] SEAT No. : H_ Q6) a) Explain Realization and Dependeng %m_mmoawav with example. [4]
P2361 : [Total No. of Pages : 2 b) Draw an Object diagram for Hotel‘Management system. [4]
[5 G@ﬁdeh
S.Y.M.C.A. a.-nﬁ.cm:m—:mnl:m Faculty) - 07) a) -
Object @.—oﬁnﬁ Analysis and Design e (R S ﬁ
ANcmu Wuﬁ.aw.:v Am,n/EnmnnﬂL:v b) Explain the no:o.avﬁ o,_m.sno_zgzma Fragments. [4]
Time : 3 Hoursf er ke [Max. Marks : 50 Gy’ OR
Instructions to the candidates; - 08) a) Draw sequence diagram for the following scenario: (4]
1)  Neatdiagrams nust be drawn wherever necessary. : .
2)  Figures to the yi E: indicate full marks. 1) mcmﬁor the. pphone number in directory
3)  Use of probability table, electronic packet calculator is allowed. i) U_& Hrm ::Edm_. and place the call
4) \r.u:Sn .u.EEE& data if necessary.
\ & o b) What'are ncSE:ESco: diagrams? What are the :cE:o:v used for
tion di 4
Q1) a) Explain Rumbaugh’s Object Modeling ,Hnorzﬁznx_z brief. (4] S Ration diagram. sl
b) What are two views of Software Um<m_0ﬁ8m=% State the difference
between them D [5] Q9) a) mx@_mi partitions and regions with respect to mo:SQ diagram.  [4]
& b) :UE& a timing diagram for ATM sy stem. [4]
02) a) - Describe The Booch go%oao_on% zﬁm rn:um to design the system using OR . - ‘
" object paradigm. e N N [5] What are sub-states? Explain‘sequential sub-states and concurrent sub-
b)  Explain how Iterative and Ennwambﬁ_ architecture approach are modeled states with suitable diagram: < 4]
in UML? e [4] b) Draw an activity diagram for elevator system. [4]
x )
Q3) a)  List the relevant n:mnmnm S mamEnmm and enhancements in UML 2.0[4] - Q11) a) How deployment QEMEE f: be useful to fully distributed client and
b) Dgaw a Use Case a_wmﬂmh:«moﬂ Online Transaction Management mu\mﬁ.d server system? [5]
(e-shopping). Make :ngwms assumptions. 4] b) Draw package diagram-for college admission system 4]
A OR g OR
04) a) %w“nmwﬁﬁaam.ﬂoﬂwm between <<include>> and Ammwac:av v.._;xEW_m Q12) a) Describe component diagram. Give three types of components.  [4]
: (5]

b) How UML is ‘useful in embedded systems?

N

b) Which are various behavioral diagrams in CZF 2.0? Explain role of
each of them. [, Yy (4]
++++

05) a) Explain the following adornment on mwmoﬁwco: <Association names,

Qualified Association, Association O_mmwwam,. Z-E% Association [4]
b)  Give reverse and forward engineering of m;@wﬁm diagram. [4]

PT.0. [5156]-304 2
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[5156] - 305
S.Y.M.C.A. (Under Engineering Faculty)
Operations Research
(2013 Pattern) (Semester-I1I)
Time : 3 Hours] SN

Instructions fo the camlidates

1)

All questzons are compulsory.

[Max. Marks : 50

2)  Figures to.the nght indicate full marks.

3) Use of electronic pocket calculator is allowed
4) Assume suitable data, if necessary.

5) The graph papers will be provided on demand.

0Ql) a) Solvétﬂ‘ﬁtﬁ]ﬁe following LPP using Simplex Method. [9]
I1’\/I:§\)‘('i1'nize Z =2x +x,
;_M_'llf;i»tS"%i)lbject to. 4x +3x, <12, " s
4x +x, <8, o o
e N
where e >0 //‘ : 4
Q2) a) Solve the followmg LPP by oraphlcal method. [6]
Maximize —Z=6x +8% 3
Subject to  5x +10x, £60
4x, +4x, < 40,
1Ox,+7x2 <35,
where i ,’rz >0 =
b) Define following
i)  Slack variable
i1) Feasible solution
iii) Optimum solution [3]
PT.O:

Scanned by CamScanner



03) a) Solve following transportation problem to minimize the total
. transportation cost. Give the transportation. schedule. Use VAM method

to obtain initial basic feasible solution [8]
ANEBUINSHT | E |Capacity
P 2G| 2 | 3 800
Source] Q@ |3 | 4P5| 8| 1| 600
R ORIl 2.1 6 200
S Q| 4K°7 ] 3] 5] 4 400
Demand | 400| 100 700{300 | 500

‘\ OR
04) a) A company 1s faced with the problem of assigning 4 machines to 6
dlfferent Jobq (one machine to one job only). The profits are estimated
as below Solve the Assignment problem to maxmizethé total profit.[6]

Y Machines
el A B @ D
N1 3 6 2 6
| 7 1 4 4
S Jobs | 3 3 8 5 8
B 4 6 4, 3 7
5 5 A PN 3
6 By 8 4
b) Write a short note on Deoeneracy\m the Transportation problem. [2]
05) a) Using the following: table o (8]
Activity %o’ [0 tm Tp G
1-2 1 o 1 7
1-3 >] 4 7
14 2 Z 8
2-5 vl 1 1
3-5 2 5 14
4-6 2 5 8 |ty
5-6 3 6 15 d\NY &

1)  Draw a network diagram gl )
i) Find the expected duration and vauance f01 cach activity.
iii) Find critical path AL ~
iv) What is the expected project lenoth?

OR

[5156]-305 )
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Q6) Find the sequence that minimizes the total elapsed time (in hours) required

to complete the following tasks on two machines. Calculate total elapsed

a) construct the d1stance _,network

b) Find the minimum spannmg tree using Kruskl’s algorithm.

™\ w
\‘--.,
&

time and idle time for both machines. [8]
Task B Cl DA F{ G| H I
Machine I RIS | 9ak6 | 8 T | S5 4
Machine IO 8Ny | 44 31 9| 3 ['8 [ 11
Q7) a) What is goal ploorammmg7 Explain any one methods to solve goal
programming- pxoblem [4]
b) Explam Mlmmum Spanning Tree. [4]
[ g s OR
08) Considehrélvtihe"detgj]‘s of a distance network as shown below (8]
Atc ) | Bistance Arc Distance 3
T S 5-6 13
13 7 5-8 9
14, 10 6-7 5
| 223 8 6-8 !
~P2-5 4 6-9 8
V13-4 6 6-10 - 3:
3-5 11 7-9~ 10
3-6 3 8- 10 10
3-7 5 {19510 9
4-7 S L 2

09) A manufacture of a new detergent powder consisting of three vanetles viz

super, find and glow has to decide the appropriate variety of. detergent to be

lanuched on the bas1s of the following estimated payoffs accordmg to sales-

[5156]-305

levels. / ‘
Detergent Estimated Levels of sales(unite)_>-3
Variety s 12

50000 25000 [ 15000]>
Super 45 30 590 o
Fine 60 ARG Y 1% %
Glow 7/ 50 - 7 0
2,

[8]
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Determine the optical decision using
a) Minimax criterion

b) Regret criterion

c¢) Laplace criterion

d) Hurwicz criterion. for ¢ = 0.5

OR
(Q10) A newspaper boy has the following probabilities of selling a magazine.[8]
No. of copies,sold’ probability
RS A 0.10
Ny &0 0.15
12 i 0.20
\J13 0.25
1 4 0.30

Cost of a. copy is 30 paise and sale price is 50 paise. Hc cannot return unsold
copies."How many copies should he order? Determine EVPI?

N
,{

\_ﬁ

Ql1) a) ' Using multiplicative congruential method genelate 7 random numbers with
b=17,¢c =111, m = 103 and.the seed = 7 [5]
b) What is simulation. Explaiﬁ_‘n‘jerit‘s_and demerits of simulation (4]
SSORG
Q12) a) Given the followmg mformatlon ‘of cancellation of taxis per day at a
travel agency. T [6]
Number of cancellation -’  Probability Y
0 el 0.35
1 o 0.22
2 i 0.18
N 0.10
Al 0.15

Simulate Cancellation of taxis for the next 10 days u%mg random

numbers. e
Random | 20| 43| 58( 85| 62| 75] 84 45 55 92
b) What are random numbers? Why they are called Pseudo-random [3]

+4+ 44
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